


A N
KEPIIB TR 1R R 228k
— R BT R 2

el BRLW BE

WELERFHRE



REREER -

EHEREHTRER LT —SHRR, THHEAERFNURY AR EE
iR KT T RGN 2, et Ak E R 120 X, BIERE XL
W LEX R HER . G XSRS, MRS PAEREN,
R MAFRERIURE. BERRENREXPFA—RANRE. A BBEAKRE
£ BFRE RS TOEFL.EPT %Ry,

FEOFBE=E 007 =

gkl bl s e g
AT
WA BLEm BE
i TR
PEAGE R F BRI
mﬁﬁﬁ!} 710049 .
FEIAKEIR B3
BT E B IE L8
FFA 787X1092 1/32 B 12.375 F¥ 263 FF
19934 1Z A1 10034 12 A 1 K
B ¥ s 1—5000
ISBN7-5605-0601-1/H « 51 E447. 80 7&



v .
%
3 e

on

o

Bl

TR B4 by 257 a%*,zé#rﬁﬂ%mmmm
BNt Aa—m e SANIER T H— % T SR

IR Rt H BT PR R RIS S HEEE
— XN EEER. WEANT A EXBENHF Y —
XEHFHEEHIN,. MRS REATEEEEEETX
B4 35, B A BT T B S R Y
(e, 6 0 P 5 B L M VAT PR 3

IR BRI S AT B SRR PR R A R — 1
XEHEN EXIERIEST RO ELEAEEETN
BRI R RS T T SR AR RH
T—AEEHA, A SR, WSO B B BB &
LR XL R TR G F ST T IS M4 47 , 3F
B2 3 BA R E

oAb RATES GRS TT T f5 5 BT - BT X
BEEE PHAEY L BN B AT
B SEFASHE.

AT 120 B FEEMS S . W HOCK, &5 30 £,
FEHEMNERS. SXEPREEYFANNLTRYE, [
A RRNBM T SRR, it BT 2 ER 7
T TR HEIR B M A SR T R 1% I R AR L
HEUSELZEN., RNAE EERE—MAERTLE
RO RAGER T BEAS TR R4 O R0 B, B i K P — B kY

1




£,
BELERFSIEAFREBER AT ER TR RBET
WEERBL, HPMRRAREHEEBHRELTFE
A ROBBGEMIFRE OB,

N &
19934E 9 A



ot L

»

B®
AR RS
BRI
o RRE R
3 WL 54

4. iR R I EEFRARER ST 30 1

*E_E’P_%‘ﬁ}ﬁ P L

5. WA P RS 30K

*\éa_%_l::,‘ﬁﬁ..... PR T TR TR Y

6. LI IR 30

7. ﬂ%)‘cﬁﬂﬁﬂﬁéﬁg 308
K50

8. g% la‘&ﬁ evereernas

9. KEFIE @ﬁ#ﬁﬁﬁﬁﬁ%ﬁﬂﬁaﬁki

« (D
- (1)
(34
(48>
(123)
(196)

« (264)
-+ (332)

........ (368)



1 RFPEBORGEAE
T REEMAMN

X F RIEDREK(1993 F )
COELLEGE ENGLISH TEST
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Part I Reading Comprehension (35 min-

utes)

Directions : There are 4 passages in this part. Eack passage
P ;;'s Jollowed by some questions or unfiﬁished state-
‘ ) ‘_'.men:s. For each of them there are four choices -

marked A), B), C) and D). You should decide
on the best choice and mark the corresponding let-
ter on the Answer Sheet with a single line through
the centre.
Questions 21 to 25 are based on the following passage:
There is a popular belief among parents that schools are
no longer interested in spelling. No school 1 have taught in

has ever ignored, spelling or considered it unimportant as a

basic skill. There are , however, vastly different ideas

about how to teach it ,or how much priority (fR5€) it must
be given over general language development and writing a-

bility. The problem is, how to encourage a child to express
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himself freely and confidently in writing without holding
him back with the complexities O£T% elli @ E "P\U'

If spelling bécomes the only f rdocal poin int of his teacher’s
interest, clearly a bnght child will be likely to play safe”.
He will tend to @:only words within his spellmg range,

\

choosing to avoid adventurous language. That’s why teach- .

ers often enc % @ifrly us.%_'f &%nes and pay at-
tentlon to conten ather than tefRnical ity ;S,\‘-

I was once shocked to read on the bottom of a sensitive
piece of writing about a personal experience:* This work is
terrible! There are far too many spelling errors and your
wiriting is illegible (ERAPH N G9). "It may have been a sharp

Ve———
criticism of the pupil’s technical abilities in ertd‘l ﬁ}
was also a sad reflection on the teacher who had omltte to
read the essay, which contained some beautiful expressmns
of the child’s deep feelings. The teacher was not wrong to
draw attention to the errors, but if his priorities had centred

. . . ’ . - - - h
on the child’s ideas, an expression of his disappointment
——
with the presentation would have given the pupil more moti-
vation (Z1/7) to seek improvement.
21. Teachers are different in their opinions about

- Adthe difficulties in teaching spelling X
the role of spelling in general language development

C)the complexities of the basic writing skills

D)the necessity of teaching spelling
22. The expression“play safe” probably means . .

2
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A)to write carefully
B)to do as teachers say
C)to use dictionaries frequently
\15}10 avoid using words one is not sure of
-z Teafoheré encourage the use of dictionaries so that ____
. 7&students will be able to express their ideas more
. ( “dreely Ly
) éach_eré will have less trouble in correcting mistakes
udents will have more confidence in writing
D)students will learn to be independent of teachers
7 24. The writer seems to think that the teacher’s judgement

. - on that sensitive piece of writing is

1cea§o_ngkj‘)_lgj‘[\1 Coolish }
unfair . (Bﬁafeless ?}

25. The major éojxit disgﬁssed in the passageis ___ .
Adthe imp‘oﬁ';nce"of developing writing skills
- Blthe complex{tié"s of spelling
" Cythe correct way of marking compositions
the relationship between spelling and the content of a
~Vcomposition
XELBI R
AR ENEREHEAEST KR —RRIEX RS
B E-RIERREF A, ZESHIEF EE IR R (X
KA SEZAEREER AN R B AR EE S
TIE R R A v ls, EEEE_RPEHR
REAENFRRBERE EEZBRPEENERELT
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shocked, a sad reflection on % (RE—EK).
BL5.DUBREXEEXENES . FEL2HR  BEHHIEE
EHE 5 RA Tole V'
Questions 26 to 30 are based on the folltv'viqg passage:

A breakthrough (Z&8) in the provision of energy from
the sun for the European EconOmmmunity (EEC)
could be brought forward by up to tv%Jéecades. if a modest
increase could be provided in the EEC’ research effort in

this field, according to the senior EEC scientists engaged in

experiments in solar energy at EEC’s scientific laboratories

at Ispra, near Milan.

The senior West German ‘scientist in charge’ of the

“Community’s solar eneygy programme,Mr. Joachim Gretz,

told journalists. that at present levels of research spending it
was most unlikely that solar energy would provide as much

as three percent of the Community’s energy requirements
) .
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even after the year 2,000. But he said that with a 'modest in-
crease in the present sums, devoted‘by the EEC to this work
it was possible that the breakthrough could be achieved by
the end of the uexkdecade.

Mr. Gretz calculates that if solar energy only provided
three per cent of the EEC’s needs, this could still produce a

saving of about a billion pounds in the present bill for im-

ported energy each year. And he believes that with the pos-

sibility of uti]izing more advanced technology in this field it
might be possible to satisfy a much bigger share of the
Commuhity’s future energy needs.

At present the EEC spends about $ 2. 6 millions a year

on solar research.at Ispra, one of the EEC’s official joint res

search centres, and another $ 3 millions a year in indirect -

research with universities and other independent bodies.
26. The phrase “be brought forward” in Line 3 most proba-
bly means ___ o
A)be expected . e advanced
e completed  D)be introduced
27. Some scientists believe that a breakthrough in the use of
solar energy depends on
ufficient funding.
B){urther experiments

C)advanced technology

'

D)well-equipped laboratories

28. According to Mr. Gretz, the present sum of money will

s



enable the scientists to provide _____

A)a little more than 3% of the EEC’s needs after the
year 2,000 -

B)3% of the EEC’s needs before the year 2,000

C)less than 3% of the EEC s needs befo:e the year

2,000 .
& Qonly 3% of the EEC needs even after the year
2,000 ‘
29. Wthh of the followmg is NOT true accordmg to the pas-
sage? ,
MThe EEC spends one billion pounds on imported en-
' ergy each year. . v

. <BJAt the present level of research spending, it is diffi-
k} ult to make any significant progress in the provision
of energy from the sun.
.C) The desired breakthrough could be obtamed by the
end of the next decade if investment were increased.
D)The total yearly spending of the EEC on solar energy
research amounted to almost 6 million dollars. -
30. The application of advanced technology to research in so-
lar energy ____.
Adwould lead to a big increase in research funding
B)would make it unnecessary to import oil B

\C)wou]d make .it possible to meet the future energy

"é’ﬂ'é‘ ds of the EEC

,_‘W(mld prmnde a much greater proportior{ of the
.

e



Community’s future energy needs
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Questions 31 to 35 are based on the following passage: *

- Just seven years ago , the Jarvik-7 artificial heart was
being cheered as the model of human creativeness. The
sight of Barney Clark —alive and conscious after trading his

diseased heart for a metal-and-plastic pump— convinced the

~ press, the public and many doctors that the future had ar-

rived. It hadn’t. After monitoring production of the Jarvik-
7, and reviewing its effects on the 150 or so patients (most
of whom got the device as a temporary measure ) the U. S.

Food and Drug Administration concluded that the machine

7
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was doing more to endanger lives than to save them. Last
week the agency cancelled its earlier approval, effectively
banning (2%1k) the device.

The recall may hurt Symbion Ind., maker of the
Jarvik-7, but it won’t end the request for an artificial heart.
One problem with the banned model is that the tubes con-
necting it to an external power source created a passage for
infection (JR#). Inventors are now working on new devices
that would be fully placed, along with a tiny power pack, in
the patient’s chest.AThe first sample products aren’t expect-
ed for another 10 or 20 years. But some people are already
worrying that they’ll work and that America’s overextended
health-care programs will lose a precious $ 2. 5 billion to

$ 5 billion a year providing\ em for a relatively few dyin,
. g

Ws. If such expenditures (3 %) cut into funding for
more basic care, the net efiect could actually be a decline in
*the nation’s health. /
31. According to the passage the Jarvik-7 artificial heart
. proved to be .
AJa technical failure
B)a technical wonder
Cla good life-saver
D)an effective means to treat heart disease
32. From the passage we know that Symbion Ine. .
A)has been banned by -the government from producing
artificial hearts

-



B)will review the effects of artificial hearts before de-
_signing new models-
{ '(f);xnay continue to work on new models of reliable arti-
%cia[ hearts
\I_))can make new models of artificial hearts available on
the market in 10 to 20 years
33. The new models of artificial hearts are expected ___ .
A)to have a working life of 10 or 20 years
B)to be set fully in the patient’s chest
C)to be equipped with an external power source
D)to create a new passage for infection
34. The word “them” in Line 4 (from the bottom), Para. 2
refers to ___ .
Addoctors who treat heart diseases
B)makers of artificial hearts

LCYAmerica’s health-care programs

:ﬁ)lr}éw'models of artificial hearts -
35. SB;xle people feel that ___. \/‘ ' -
- Adartificial hearts are seldom effective
\Bdthe country should not spend so much money on arti-
ficial hearts ‘
C)the country is not spending enough money on artifi-
cial hearts
D} America’s health-care programs are not doing e-

nough for the nation’s health

X BT
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-Questions 36 to 40 are based on the following passage:

A rapid means of long-distance transportation became a
necessity for the United States as settlement (Hf#iF&#)
spread ever farther westward. The-early trains were-imprac-

tical curiosities , and for a long time the railroad companies

met with troublesome mechanical problems. The most seri-

ous ones were the construction of rails able to w
b - )

and the development of a safe, effective stopping system.

Once these were solved, the railroad was established as the
best means of land transportation . By 1860 there were
thousands of miles of railroads crossing the eastern moun-
tain ranges and reaching westward to the Mississippi. There
were also regional southern and western lines.

The high point in railroad building came with the con-
struction of the first transcontinental system. In 1862

Congress authorized two western railroad companies to build
10
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lines from Nebraska westward and from California eastward -

to a meeting point, 8o as to complete a transcontinental

crossing linking the Atlantic seaboard with the&ciﬁc. The
: R a4

Government helped the railroads generously with money and

land. Actual work on this project began four yenrs_j_a(ég;

T A o o e R 7 o s e e R T

m
" The Central Pacific Company, starting from California,

used Chinese 1abot; while the Union Pacific employed crews
of Irish labourers. The tw:—g?o-m&i at remarkable
speed, each trying to cover a greater distance than the oth-
er. In 1869 they met at a place called Promontory in what is
now the state of Utah. Many visitors came there for the
great occasion. There were joyous celebrations all over the
country, with parades and the rmgmg of church bells to
honor the great achievement.

The railroad was very important in encouraging west-
ward movement. It also helped build up industry and farm-
ing by moving raw materials and by distributing products
rapidly to distant markets. In linking towns and people to
one another it helped unify the United States."

36. The major problems with America’s railroad system in
the mid 19th century lay in ___ . X
&poor quality rails and unreliable stopping systems
B)lack of financial support for development

¢t . C)limited railroad lines

D)lack of transcontinental railroad

37. The building of the first transcontinental system .
) 11



